Wednesday challenge 1 and 2

Subtracting two digit numbers.

Chl:

12-10=
17-10 =
14-10=
18-10=
21-10=
22 -11=
24 -11=
26-11=
35-12=
.33-12=
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Ch2:

24 -16 =
27 -21=
37-23=
38-25=
40-20=
46 - 32 =
58 - 31=
53-49 =
79 -63=
.83-56+=
.64-21=
.74-23=
.56 -47 =
.26-16 =
.96-35+=
.100-43 =
.100-61=
.54-37=
19.88-30+=
20.48 - 36 =
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You are working so hard keep it up!

You know you can use a humber line to solve
these sums.

We always partition the SMALLEST
number and then subtract in jumps of 10s
and 1s.



